1 3 5 7 9 10 " 12
NOTES
1. DETAILS OF 11kV ARRANGEMENTS ARE TO NS126 AND NS 122
: T 2. CCT STANDARD EARTHING POINT AND COVER TO BE INSTALLED AS DETAILED IN NS126.
5 5 3. COPPER CABLE MUST BE INSTALLED BELOW ALUMINIUM MAINS.
QJP [ HOT LINE CLAMPS MAY BE INSTALLED ON END TERMINATION PROVIDED BAIL CLAMP IS
| SEE NOTE 2 CONNECTED ON MAINS AND NOT ON A PREFORMED DEADEND.
| SEE NOTE 2 5. HOT LINE CLAMPS MUST BE CHECKED FOR TIGHTNESS BY TESTING FOR MOVEMENT AFTER
CLAMPIS INSTALLED
| SEE DETAIL B 6. HEAVY DUTY 35mm? LUGS MUST BE USED ON HV FLEXIBLE CABLE. TwWOQ CRIMP
! AND NOTE 7 OPERATIONS ARE REQUIRED FOR COMPLETE TERMINATION OF CABLE INTO LUG TUNNEL
| 7 THE 130mm BOLT SUPPLIED WITH THE HVDO SERVES A DUAL PURPQOSE IT IS USED TO
~ ATTACH THE EARTH STIRRUP AND AS THE PARKING BOLT FOR THE HOT LINE CLAMP
| WHEN THE CLAMP IS DISCONNECTED FROM THE HV MAINS
| 8 AHV SUPPORT CROSSARM IS REQUIRED FOR ALL INSTALLATIONS WHERE THE DISTANCE
| BETWEEN HV FEEDER & HV DROP-0UT FUSE CROSSARM IS EQUAL TO OR GREATER THAN
| 1500mm. THE SUPPORT CROSSARM IS TO BE CONSTRUCTED AS SHOWN IRRESPECTIVE OF
' THE TYPE OF HV MAINS CABLE, MIDWAY BETWEEN THE HV FEEDER AND HV DROP-QUT
— FUSE CROSSARM.
B END VIEW - 2 REAR VIEW END VIEW - 1 HORIZONTAL PIN CONSTRUCTION END TERMINATION - 1 END TERMINATION - 2 © CCT CABLE (976D 70 SUT THE FEEDER RATIGI 1 70 BE USHD O POLES WITH BARE
or THROUGH TERMINATION CCT CONDUCTOR REQUIRING A HV SUPPORT CROSSARM
HV SUPPLY END TERMINATION
SCALE 1:25 HV SUPPLY - CCT CONDUCTOR
SCALE 1:25
FOR CONNECTION TO COPPER
OVERHEAD CONDUCTOR, SEE DETAIL C \/;_\ 1100 |
FOR CONNECTION TO COPPER %
/\/ OVERHEAD CONDUCTOR, SEE DETAIL C i _ 509 EARTH - PARKING, DEVICE, IPC CC TO EPD (ENSTO REF. SLW26.A2) (THROUGH CONSTRUCTION) 186865 6
| EARTH - PARKING, DEVICE, IPC CC TO EPD (ENSTO REF. SLW26.A2) (END TERMINATION) 186865 3
C , , | 508 [CONDUCTOR - COVERED (CCSX) (TO SUIT FEEDER RATING) AR
| AR o= | 507 |WASHER - SPRING, M10, STAINLESS STEEL 518082 | 50120 3
; ' . | SEE DETAL B 506 |WASHER - FLAT, M10, STAINLESS STEEL 518081 | 49411 6
i L : AND NOTE 7 505 |NUT- M10, HEX., STAINLESS STEEL 515467 | H39401 3
| i 504 |BOLT - M10x40mm, HEX., STAINLESS STEEL 515467 | 45096 3
i 9 3 5o |CAP - CONDUCTOR (ENSTO REF. GSEC1.2) (TO BE USED FOR CCSX159) 186887 ;
| | CAP - CONDUCTOR (ENSTO REF. CSEC1.1) (TO BE USED FOR CCSX62) 186886
b | | 502 [JOINT - NON TENSION, IPC TO IPC (ENSTO REF. SLW26.A) 186863 3
i | | 5y |LUG - COMPRESSION, BHMETALLIC, 159 (TO SUIT CCT159 CONDUGTOR) (M10 HOLE) ;
L SUPPORT CROSSARK | V N LUG - COMPRESSION, B-METALLIC, 62mm? (TO SUIT CCSX62 CONDUCTOR) (M10 HOLE)
SEE NOTE 8 | LV SUPPORT CROSSARM | HV SUPPLY - CCSX CONDUCTOR
D | SEENOTES HY SUPPORT CROSSARM REAR VIEW END VIEW 411 |!WIRE - TIE, PREFORMED, INSULATED (FOR CCT120) 144600 5
| SEENOTE 8 WIRE - TIE, PREFORMED, INSULATED (FOR CCT80) 144618
; HV SUPPLY PARALLEL GROOVE CLAMP 410 |INSULATOR - PIN POST, LONG STUD (FOR CCT) 145052 | 3
i SCALE 125 409 |CONDUCTOR - COVERED, THICK (CCT) (TO SUIT FEEDER RATING) AR
=3 408 |CLAMP - PARALLEL GROOVE, BIMETALLIC, 3-BOLT 176491 3
HV SUPPORT CROSSARM
407 |WASHER - SPRING, M10, STAINLESS STEEL 518082 | 50120 3
406 |WASHER - FLAT, M10, STAINLESS STEEL 518081 | 49411 6
405 |NUT- M10, HEX., STAINLESS STEEL 515467 | H39401 3
SEE NOTE 7 NNy 404 |BOLT - M10x40mm, HEX., STAINLESS STEEL 515467 | 45096 3
HORIZONTAL PIN CONSTRUCTION END TERMINATION - 1 END TERMINATION - 2 403 |COVER - PARALLEL GROOVE CLAMP 144576 3
£ or THROUGH TERMINATION EARTH 402 |CLAMP - PARALLEL GROOVE, 3-BOLT 144568 3
HV SUPPORT CROSSARM " STIRRUP 401 UG - COMPRESSION, BHMETALLIC, 120 (TO SUIT CCT120 CONDUCTOR) (M12 HOLE) 514053 | 58321 ;
REFER NOTE 8 LUG - COMPRESSION, B-METALLIC, 80mm? (TO SUIT CCT80 CONDUCTOR) (M12 HOLE) 514053 | 176953
SCALE 125 HV SUPPLY - CCT CONDUCTOR
DETAIL A DETAIL C 309 [WASHER - SPRING, M10, STAINLESS STEEL 518082 | 50120 3
SCALE 15 DETAIL B SCALE 15 308 |WASHER - FLAT, M10, STAINLESS STEEL 518081 | 49411 6
SCALE 15 307 [NUT-M10, HEX., STAINLESS STEEL 515467 | H39401 3
306 [BOLT- M10x40mm, HEX., STAINLESS STEEL 515467 | 45096 3
| 1100 | CLAMP - BAIL, HOT LINE, 14 - 212mm? (TO SUIT COPPER CONDUCTOR) 176954
! MIN. 1000 MIN. 1000 305 3
'A——‘ CLAMP - BAIL, PG 7/3.0-19/3.75 (TO SUIT ALUMINIUM CONDUCTOR) 62356
% o 304 |KIT - TERMINATION, HEATSHRINK (TO SUIT 11kV DROPPER LUGS) (SET OF 6) 152207 1
F I IR * 5 I SEEDETAL A § J 303 |KIT- TERMINATION (TO SUIT 35mm? 11kV DROPPER CABLE) (SET OF 3) H125260 | 1
\if : AND NOTE 6 302 |CABLE - FLEXIBLE, 35mm (1008/0.205) COPPER, PVC INSULATED, BLACK 60095 6m
| 301 [CLAMP - LIVE LINE H18140 3
| HV SUPPLY - HOT LINE CLAMP
i S/E&OEB#I& 78 209 |LINK - COMPRESSION, BI-METALLIC (TO SUIT COPPER CONDUCTOR TO CCT) 3
| 208 |CONDUCTOR - COPPER (TO SUIT FEEDER RATING) AR
| SEE DETAL A 207 |CLAMP - PARALLEL GROOVE, 2-BOLT (TO SUIT COPPER CONDUCTOR) 3
9 : b NoTES 206 |WASHER - SPRING, M10, STAINLESS STEEL 518082 | 50120 3
! 205 |WASHER - FLAT, M10, STAINLESS STEEL 518081 | 49411 6
! 204 |NUT- M10, HEX., STAINLESS STEEL 515467 | H39401 3
| 203 |BOLT - M10x40mm, HEX., STAINLESS STEEL 515467 | 45096 3
| HV SUPPLY PARALLEL GROOVE CLAMP
G — 155 | LUG - COMPRESSION, BFMETALLIC (M10 HOLE) (TO ST ALUMINIUM CONDUCTOR) ;
REAR VIEW END VIEW HORIZONTAL PIN CONSTRUCTION END TERMINATION - 1 END TERMINATION - 2 LUG - COMPRESSION, TINRED GOPPER (W10 FOLE) (T9 SUIT COPPER GONDUGTOR)
or THROUGH TERMINATION 154 |WASHER - SPRING, M10, STAINLESS STEEL 518082 | 50120 3
HV SUPPLY - HOT LINE CLAMP 153 |WASHER - FLAT, M10, STAINLESS STEEL 518081 | 49411 6
SCALE 1:25 HV SUPPLY - CCSX CONDUCTOR 152 |NUT- M10, HEX., STAINLESS STEEL 515467 | H39401 3
HOT LINE CLAMPS ARE ONLY TO BE USED ON POLE SCALE 1:25 151  [BOLT - M10x40mm, HEX., STAINLESS STEEL 515467 | 45096 3
TRANSFORMERS 63kVA OR LOWER AND WITH LOADS THAT DO HV SUPPLY END TERMINATION
_@ NOT HAVE MOTORS LARGER THAN 10kVA. TEM DESCRIPTION DRG. No S(':I'glg)é( QTY
i ERr . o . |2 5. 2 & 5 oy ém QR oo T o e STANDARD CONSTRUCTION
H g:;:; é 2 = < %%%Wﬁ Eg § “j§ ;“j égg% g &3 o ) %EE% ;%'C;’ \Ausgrld DRAWN C.MABBUTT 3 PHASE - 11kV POLE MOUNTED
s3lvlzzz o8 | & 222832 25 1Z.%|83: 23[3z55 ¥5E8BS 33jgEde Z SE® \eoROv SERce DISTRIBUTION SUBSTATION
30|558 35,885 £43220087 22 Fisi|pgi.zeBRiiogizBal _B5EEfSg o XK 222 ot 10,1
-2 %25 Cos528 S |25 28 B3=a|Z8E13c|lglzoEnEfEaus® o558 5:2° 2829 3 PHASE 11kV POLE MOUNTED DIST.SUB. HV, LV, ABC & COMMUNICATIONS CROSSARM DETAILS | 228823 | 145 NEWCASTLE RD WALLSEND. - 11kV OVERHEAD SUPPLY
S2lu|Zo5z80002308 o33 T2 ZEZoB|EX=S_oC|EnfoLEEETEEE 0ol || |uxks 3 PHASE POLE TRANSFORMER ON TIMBER POLE GENERAL ARRANGEMENT 208821 | NSw 2287 NUMBER STD CONNECTION OPTIONS
Bl=[CEz2Cgr oot 285|000 0828|3527 285|PEC8a w22 882222220 28282(|3 5|8 |2822 3 PHASE POLE TRANSFORMER ON COMPOSITE POLE GENERAL ARRANGEMENT 244219 — — T
<5§§§D§Zfﬁﬁ§z'—<ﬁa Zzior=zdz<oa §z<»—ﬁaégo§§f'—""»'—"3ﬁ§gﬁg\ﬁa 3coo2<Za |22 |} PROJTRAK i
mEbez8choobTaEs| oo s D555 |08258 5000058 =52|2253kz82 (8|5 ¢ ~ ASSOCIATED DRAWINGS NUMBER A1 /78825 1 1
20110901 1 2 3 A 7 9 10 " 12

228825-1.dan 5/15/2024 4:29:08 PM




1 2 3 [ 5 6 7 8 9 10 | 1 12
| NOTES
1 DETALS OF 1tkV ARRANGEMENTS ARE TO NS126 AND NS122
2. CCT STANDARD EARTHING POINT AND COVER TO BE INSTALLED AS DETAILED IN NS126.
| 3 (OPPER CABLE MUST BE INSTALLED BELOW ALUMINIUM MAINS
L. HOTLINE CLAMPS MAY BE INSTALLED ON END TERMINATION PROVIDED BAIL CLAMP IS
A SEE NOTE 2 SEE NOTE 2 CONNECTED ON MAINS AND NOT ON A PREFORMED DEADEND
\ SEE NOTE 2 5. HOTLINE CLAMPS MUST BE CHECKED FOR TIGHTNESS BY TESTING FOR MOVEMENT AFTER
| CLAMPIS INSTALLED
' SEE DETAL B 6 HEAVY DUTY 35mm? LUGS MUST BE USED ON HV FLEXIBLE CABLE. TWO CRIMP
| AND NOTE 7 OPERATIONS ARE REQUIRED FOR COMPLETE TERMINATION OF CABLE INTO LUG TUNNEL
. 7. THE 130mm BOLT SUPPLIED WITH THE HVDO SERVES A DUAL PURPOSE. IT IS USED TO
ATTACH THE EARTH STIRRUP AND AS THE PARKING BOLT FOR THE HOT LINE CLAMP
- g 2 WHEN THE CLAMP IS DISCONNECTED FROM THE HV MAINS
! 8  AHV SUPPORT CROSSARM IS REQUIRED FOR ALL INSTALLATIONS WHERE THE DISTANCE
| BETWEEN HV FEEDER & HV DROP-OUT FUSE CROSSARM IS EQUAL TO OR GREATER THAN
\ 1500mm. THE SUPPORT CROSSARM IS TO BE CONSTRUCTED AS SHOWN IRRESPECTIVE OF
THE TYPE OF HV MAINS CABLE, MIDWAY BETWEEN THE HV FEEDER AND HV DROP-0UT
FUSE CROSSARM
B REAR viEw END ViEw - 1 HORIZONTAL PIN CONSTRUC T END TERMINATION - 1 END TERMNATION - 2 5 CCTCABLE(SED T S THEFEEDERRATHGHT 10 B USED h POLES T BARE &
or It CCTCONDUCTOR REQUIRING A HV SUPPORT CROSSARM
HV SUPPLY END TERMINATION
SCALE 125 HV SUPPLY - CCT CONDUCTOR
SCALE 125
1 FOR CONNECTION TO COPPER
OVERHEAD CONDUCTOR, SEE DETAIL C
FOR CONNECTION TO COPPER
OVERHEAD CONDUCTOR. SEE DETAIL C 500 EARTH - PARKING, DEVICE, IPC CC TO EPD (ENSTO REF. SLW26.A2) (THROUGH CONSTRUCTION) 186865 6
EARTH - PARKING, DEVICE, IPC CC TO EPD (ENSTO REF. SLW26.A2) (END TERMINATION) 186865 3
C f 508 |CONDUCTOR - COVERED (CCSX) (TO SUIT FEEDER RATING) AR
I 507 |WASHER - SPRING, M10, STAINLESS STEEL 518082 | 50120 3
| SEE DETAL B 506 |WASHER - FLAT, M10, STAINLESS STEEL 518081 | 49411 6
! AND NOTE 7 505 |NUT-M10, HEX,, STAINLESS STEEL 515467 | H3%401 3
| 504 |BOLT- M10x40mm, HEX., STAINLESS STEEL 515467 | 45096 3
|| i 503 |CAP - CONDUCTOR ENSTO REF. CSEC1.2) (TO BE USED FOR CCSX150) 186887 s
CAP - CONDUCTOR (ENSTO REF. CSECH.1) (TO BE USED FOR CCSX62) 186886
p i 502 |JOINT- NON TENSION, IPC TO IPC (ENSTO REF. SLW26.A) 186863 3
X 501 |LUG - COMPRESSION, BHMETALLIC, 159mm (TO SUIT CCTIS0 CONDUCTOR) (10 HOLE) s
AV SUPPORT CROSSARM | LUG - COMPRESSION, BI-METALLIC, 62mm? (TO SUIT CCSX62 CONDUCTOR) (M10 HOLE)
SEENOTE § \ 4V SUPPORT CROSSARM END VIEW HV SUPPLY - CCSX CONDUCTOR
D | SEENOTE D HV SUPPORT CROSSARM. — 411 |IRE - TIE, PREFORMED, INSULATED (FOR CCT120) 144600 s
| SEENOTE 8 WIRE - TIE, PREFORMED, INSULATED (FOR CCT80) 144618
| H PPLY PARA R AMP 410 [INSULATOR - PIN POST, LONG STUD (FOR CCT) 145052 3
! SCALE 125 409 [CONDUCTOR - COVERED, THICK (CCT) (TO SUIT FEEDER RATING) AR
Lok NUT 408 [CLAMP - PARALLEL GROOVE, BIMETALLIC, 3-BOLT 176491 3
HV SUPPORT CROSSARM
1 g i 407 [WASHER - SPRING, M10, STAINLESS STEEL 518082 | 50120 3
406 [WASHER - FLAT, M10, STAINLESS STEEL 518081 | 49411 6
405 [NUT-M10, HEX, STAINLESS STEEL 515467 | H3%401 3
SEE NOTE 7 ;"\";'Aﬁs,"‘g{ 404 |BOLT- M10x40mm, HEX., STAINLESS STEEL 515467 | 45096 3
HORIZONTAL PI TRUCTH END TERMINATION - 1 END TERMINATION - 2 403 |COVER - PARALLEL GROOVE CLAMP w5 | 3
E or U EARTH 402 |CLAMP - PARALLEL GROOVE, 3BOLT 144568 3
HV SUPPORT CROSSARM .~ STIRRUP 41 |G- COMPRESSION, BHMETALLIC, 120mm* (TO SUIT CCT120 CONDUCTOR) (M12 HOLE) 514053 | 58321 s
T REFERNOTES S E LUG - COMPRESSION, BI-METALLIC, 80mme (TO SUIT CCT80 CONDUCTOR) (M12 HOLE) 514053 | 176953
SCALE 125 HV SUPPLY - CCT CONDUCTOR
309 [WASHER - SPRING, M10, STAINLESS STEEL 518082 | 50120 3
DETAL B 308 |WASHER - FLAT, M10, STAINLESS STEEL 518081 | 49411 6
—1 Scaets | 307 [NuT-m10, HEX, STAINLESS STEEL 515467 | H3%401 3
306 [BOLT- M10x40mm, HEX., STAINLESS STEEL 515467 | 45096 3
—_e CLAMP - BAIL, HOT LINE, 14 - 212mm* (TO SUIT COPPER CONDUCTOR) 176054
MIN. 1000 MIN. 1000 305 3
|——| CLAMP - BAIL, PG 7/3.0-19/3.75 (TO SUIT ALUMINIUM CONDUCTOR) 62356
4 304 |KIT - TERMINATION, HEATSHRINK (TO SUIT 11kV DROPPER LUGS) (SET OF 6) 152207 1
E 303 |KIT- TERMINATION (TO SUIT 35mm? 11kV DROPPER CABLE) (SET OF 3) H125260 | 1
302 |CABLE - FLEXIBLE, 35mm? (1008/0.205) COPPER, PVC INSULATED, BLACK 60005 6m
301 |CLAMP - LIVE LINE H18140 3
HV SUPPLY - HOT LINE CLAMP
S:'E‘DD'E‘;/;'Etf 209 [LINK - COMPRESSION, B-METALLIC (TO SUIT COPPER CONDUCTOR TO CCT) 3
208 |CONDUCTOR - COPPER (TO SUIT FEEDER RATING) AR
-] SEEOETAL A 207 |CLAMP - PARALLEL GROOVE, 2-BOLT (TO SUIT COPPER CONDUCTOR) 3
206 |WASHER - SPRING, M10, STAINLESS STEEL 518082 | 50120 3
205 |WASHER - FLAT, M10, STAINLESS STEEL 518081 | 49411 6
204 [NUT-M10, HEX., STAINLESS STEEL 515467 | H3%401 3
203 [BOLT- M10x40mm, HEX., STAINLESS STEEL 515467 | 45096 3
HV SUPPLY PARALLEL GROOVE CLAMP
G 155 |FUG - COMPRESSION, BHVETALLIC (W10 HOLE) (T SUIT ALUMINUM CONDUCTOR) s
REAR VI HORIZONTAL PIN CONS TRUC TION END TERMINATION - 1 END TERMINATION - 2 LUG - COMPRESSION, TINNED COPPER (M10 HOLE) (TO SUIT COPPER CONDUCTOR)
154 |WASHER - SPRING, M10, STAINLESS STEEL 518082 | 50120 3
HV SUPPLY - HOT LINE CLAMP 153 |WASHER - FLAT, M10, STAINLESS STEEL 518081 | 49411 6
SCALE 125 | HV SUPPLY - CCSX CONDUCTOR 152 |NUT-M10, HEX, STAINLESS STEEL 515467 | H39401 3
- HOT LINE CLAMPS ARE ONLY TO BE USED ON POLE SCALE 125 151 |BOLT - M10x40mm, HEX., STAINLESS STEEL 515467 | 45096 3
TRANSFORMERS 63kVA OR LOWER AND WITH LOADS THAT DO HV SUPPLY END TERMINATION
NOT HAVE MOTORS LARGER THAN 10kVA TEM DESCRIPTION DRG.No | STOSK ary
- -Nol cone
oz 4i " g gx e I g oy %m NETVORK STANDARD '!ESAI'E%ED AS 5_"""’" STANDARD CONSTRUCTION
Alfefe s B 8 BBeelE Foan fr e e REE ||| L2 )\Ausgrld e | ) PHASE - I POLE MOUNTED
= > |wil - o Dt o PRI -2 a1 o x = 2 =L .
;f 2 z g zZ co% ggs s 53 = § EEEINEEEN R = .‘é’ goELEE E ‘Z 2g8Eal538s 8s= g e #g=2g 3 PHASE 11KV POLE MOUNTED DIST.SUB. HV, LV, ABC & COMMUNICATIONS CROSSARM DETAILS | 228823 | 145 NEWCASTLE RD WALLSEND, RO 1kV OVERHEAD SUPPLY
\_,g w §35§§8&5§°§§S§ .=§ 2o ;«§ ‘E‘z':g :§2§°§ gaggzggg‘(igggog %gggmézag 2|2 3 Eéﬁﬁ 3 PHASE POLE TRANSFORMER ON TIMBER POLE GENERAL ARRANGEMENT 208821 | NSw 2287 NUMBER STD CONNECTION OPTIONS
zozg:x:z=wo~>mm§\;§. ;hammaog\gg soéu\;"g tzsuakmzwzm$§§§“23*=2§§§ Sla 58<§(<§( 3 PHASE POLE TRANSFORMER ON COMPOSITE POLE GENERAL ARRANGEMENT 244219 o
S R R e - P e e e e e b S CEE R S Rl ASSOCIATED DRAWINGS RowgE - Al 228825 | 1 1
~SESISabZzdco00d|nOIZzE<a00d macosds5I8022823T58aS<|nTrnodaasa|2(O(< -
20110801 1 | 2 3 L 5 6 7 | 8 9 10 | 1 12

228825-1 .dan 5/15/2024 4:28:59 PM



